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SRS s DS 8 0D GIY MO0Ed qiEo ecy @Led.
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(1) Seoed® soce (2) cB8ueesi® (3) e®d8 edv
(4) ©80emizigun (5) evecisBeei®

4198eCd 053800 Bogdy caxles

(1) Escherichia coli ®85. (2) Aspergillus niger ©85.

(3) Aspergillus oryzae ®85. (4) Saccharomyces cerevisiae ®85.
(5) Corynebacterium glutamicum ®8=S.

. D DD OO Goed (SO .

A
B
A o B oge 89680 »® nd giies 808
(1) @8mcs esw0 BocisOf. (2) ceec® v docis®s.
(3) 203® e Secks®8. (4) decis® ow cencds.
(5) ZBeocin® e 293008,
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6. D8 Dbemedd Bl sitemen? nesns WD Cf S Be® sueana (R) 8 dnne o= ¢?
(1) cm (2) cm? 3) cm™ (4) cms™! (5) Som om

» DO DYOsimed?, OOEH BB e 850 wgm bm S CenaSn (Ons RO ¢?
() @3 2) Secitss (3) =iEBo® ez
@) eeiBud® »8eHuSns (5) eeided vBevusecic8O

1 mol dm™ &z HCl s 1 mol dm™ &2 NaOH ©@z 8 8g mebo, dgaensd cdasda mca

=00 BOcme D gumids BGEO eosidm gEmde o ¢?
c¥eson P ) cdesos L) ceeasOn

(2) DICA

(1) msgaam 8.

(2) o8 Buds gBSws 8.

(3) esgon ;0808 cdedones ¢das ed.

4) Do gPerden v B Budd 588w @.
(5) 8¢8® exqen gBfon eBemm 0Ss an @d.

Sl Béeogs §wOBed? medd widn noned
(1) SbemmIcmes ece o. (2) &S8micmast eces .
(3) B80g® momes ece o. (4) »os8@50c 8 8880 .

(5) B8 01 B0 g1 mPG® ¢ B0 .

CenncBn obSusinss eew And 9O g8 80, Bdend ©ESsine 03¢ emichon guend
(1) Beogedn qucds gBoBnden ne oS ®s8.

(2) Bmog S @ 98 o> DOS.

(3) Bt g Om O Be® On OS.

4) gome 20 ¢4 ¢8O O Be® O OGS,

(5) en8c 930 ©8m no» POLS.

e8¢ 9uidm wmbmews! Hebm ¢ ®3YEH ©OIHVO & g8 som O® ecmEm.
A - 980853 D comed? Be Higsl Beounxs .
B - 08gds H¢Be® §udBx obuded CO, g®reis 18 nds,
C - 0883 0130 ¢oumed? H,0 Bdoima 8.
PO gIe gredsl BO10E gmms/gme Dpned
(1) Acos. (2) Boos. (3) Ceoss.
(4) AcoB wogs. (5) Bew Cooss.

eyids 08 BOIT ymna o ¢?
(1) @dcdz? Beogdod emcisst 0o o,
(2) Bog® cdedom eyidn @b,

(3) Bog® egidn evicmd euids @b,
(4) 98 Bddo pe 'ed eyid=t’ g ©b,
(5) IImOE FEOBS gbog b,

eiBOE 8o O meds’
(1) qicmec80us. (2) 58058micwas.
(3) eesl0 enE d¥owLS. (4) 08» BBDiSmELS,

(5) eBBemiBm tscewinns.
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(1) CO,gud® Hew enwed deed pH goo gueg ®
(2) @O ¢ B8e®z 6600 B A= Yoo W10
(3) Bgewiced ;18 CO, 0823 40 &8 18 B
(4) ©Bec geeic e¥neds ©dB vdds guesined Bewlsl s@renn e @
(5) oD BB Hus nom Jests! wBmmS GOSEs g1 86
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(1) Acess. (2) Aeswo B ooss. (3) AvwCodé&.
(4) B esw C 098s. (5) A, B & C 8acc®.

17. 08808000 =030 BT gmas @3 ¢?
(1) m0%08e800¢ »BYS ¢l.q @O.
(2) dgemied v o1& de D180 €HOwdn 88 eO.
(3) 71®8ecierndn oy MAnG § euBecBOnS.
(4) ©oc 88 ndecos B gy 800 b Bbediro ng VB .
(5) »8ed eesBgecis eo? Bumgms tgp AYCO ©8m @d.

18. 9380 ©0a530 ens gmas RO ¢?
(1) ¢x38® pH gBedid .
(2) 25388 queg cE&HsODEE 6 Hwend .
(3) 95330 ®meN0BehO ol eyldm 8w Wi «.
4) enend O53:88x gBSw 880 gnc Bduigm Hogds.
(5) ©ONS Ox3800c Buwndson O OB00 swedmss (cofactor) gdas @d.

19. ediem gdo 20 cm Oz ABBmEEE L1ed ediie B0 2500 = nEQ& B, ABBmce o g8
¢0 e®es ¢? (T =3 8 ecnsin)

(1) 350m (2) 1200 m - (3) 3000 m (4) 3500 m (5) 4000 m

20. 8o 16cmo vec 12cm O exngiemdengmid e m@iden 03 O emens’ oydon §o

1 cm 9 80y »os o PO B Grwed eusld i} 8T ¢d Eod 8ed®sl, B3 8O0 Beg
©003ws 8¢y cred.

©®0 esdded o byed
(1) 96 cm? (2) 140 cm? (3) 165cm? 4) 192cm? (5) 280cm?
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y
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H
A
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3

Ny
/
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. >x  (5) y=-15x+5

21. § 18 etom 998 o8 son god 88we® A m B BBJ® egm god 1B ty gJ emcsin.
©08 R 62903 1 mm x 1 mm 89 ecm=im.
l/'
20 ] 274
15 \\ 1mm:1km
1A A N\
10 \
S AN »2as"
5 |
\\ T A \ == = L/
[ C
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22. Ged eosidr 1B qclosiged vda y = -0.5x% + 4x + 2 o¥mdeics )
OBx Howeics me YB . ©d cole 80 gwn Dies’
x=Cnn4 g o8, 99 ¢o Oxles’
(1) S 8
(2) S 10
(3) S 16
4) &S 20
(5) eom 26 .
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® odm gom 25 ew 26 Gieed ¢$H g ecived ge® vens o Om 38dned B 8680w

~

(G€ S0z Sioed ¢D q1.) O oem® 6. BoBbed vndd bees oinn §o (a) 230 m= O
gm0 g1 ¢o (1) 273 m ob.

23
aoQ

i 806wd, BoBhed 86 o (h) Dxtes
(1) 1478, (2) 2258. (3) 248 8. (4) 296 8. (5) 3578.

Bo®0ed 6880 (V) oemmnn ndon oB goe 20 ¢?

2 2
) V=(%)h @ v=lan @ v=lan @ v=-;-(£2‘-)h ) v=1dn

3

1 89 6 ¢5300 gommds WO @4 MSe gag DO S O CO (87 Cred. X og g mRed
g0 6 C1edm BiS veam ©0. X eew 8c 08 Bog qOass Srmse 0 SDBEA B8E=0ES

(1) 20 e 2.0e9. (2) 2.0 e300 2.5 @O, (3) 2.5 o0 2.5 ed.
@) 2.5 e» 3.5 ed. (5) 3.5 e 3.5 @O.

3 @2x+5) cit o oped

(¢)) 22:zlx,-+5 ?2) 2Z:le,+50
@) 2203 5+5 @) 203 x+50
) 202::x,+1o

OHD IR LTI,

A - oc» Emme (Control Unit), o 0&ndw 0 molis dmma (Arithmetic and Logic Unit)
et Oo oddedmd (Memory Registers) 8058 &cy® dmmed (Central Processing Unit)
YN E0es @O,
B - ¢ o88cm e dnmilio e®enyg® ofd8u ogw MS DOS ¢qundeacs.
C - 26008 85¢3® Oomwed (RAM) Do8m0d oloanus mobnme®md ogw dcoem igos
t0Qmaes @O,
QUD S qRedsl BOI0E DINL/Hme dped
(1) Acoés (2) Bodés. (3) Cooss
(4) Aew Cooés (5) BeowCooé.

oBooiman qoR® GdBed (booting process) oe§ Bubd @ ¢?
(1) User Test (2) Reliability Test

(3) Integrity Test (4) Correct Functioning Test
(5) Power-On Self Test

B¢ edamem (word document) e® 890m® owed Dmed HO qupes 800 egw 0dn ne gn
eP0E® o ¢?
(1) Header (2) Footer (3) WordArt
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32. ¢B8o B¢t enmg® (typical word processing) @agmuncs 6O eog 0189 (left align).‘qa"aq "
839 (increase indent) e gomm (numbering) q=B® e ©8n wdm E2DOC (icons) Bncg
a9B8Eede o ¢?

W |
@
) :
) |
) |

oGi®os emlean (spreadsheet cell) qinbons 68 g@aed D& Bmc § 80 guinbone
odliamens’ 88 enles REP eo5ided vIln Bom CODEO O ¢?

(1) Filter (2) Wrap Text (3) Merge Cells
(4) Text Direction (5) Fill Effect

O1RG®0s endecn Din®im §5o coes cosbd 1dn ne oS Bdime o ¢?
(1) =Today() (2) =Year() (3) =Date()
(4) =Time() (5) =Now()

. 9§0cd 8868 (presentation) Scg ¢ (slides) 0280 cams BB ©wBn mweg 018 ©Wom
(PowerPoint) qz® (View) oz ¢?
(1) Slide Show (2) Slide View (3) Normal View
(4) Reading View (5) Slide Sorter View

PowerPoint ®gmicons &5 m¢0823 Sgm 00 @y Be®2 motion effects euge0 wdn B g
Bedeos @ ¢?

(1) Slide Insert (2) Slide Design

(3) Slide Transition (4) Animation Objects
(5) Animation Scheme

e® gnedzl BIof ymian @ ¢?

(1) SMTP ez email es®edmwesc esgwr mail servers 8 ©:8m Oz o5iBedem emedlenicas.
(2) 125.214.169.218 w3 IP address esgm cewdencs.

(3) Google Chrome esz» Mozilla Firefox @08 g0l @b,

(4) www.doenets.lk wz3z URL @i esqemn cqaodencs.

(5) HTTP @8=3 Hypertext Telecommunication Protocol Bdiesescs .

086 Boma BEAg vom gmie eeHEm.
A - B8 Bl ol 868 ews wf B89 ewd 8806 B8 e
technologies) e®msidmd ©i8m 880 8l Scesmad.

B - =8a 8cams gldocuned @158, Bdnedd onsd ©:88: SN EO enedd Aco® ¢S
oe v8 .

C - 085 Scsmie quddaes O god 800 BedBd Susten oo I8 8ed.
PUD gIA aRedsl BOGE gmne/gme dned
(1) Avoés. (2) Boeés.
(4) AewBooés. (5) A,BeowCam 8adee.

o B8OE mudeency (digital

3) Ceooss.
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39. 40:83 gheed dnmn nor ¢?
(1) Nmg? ) kgm? (3) kgm @) Js?

40. con $9:8x3 ceBnus’ emdses no &?

(1) OmokSes (2) b8 Bocess
(3) end&n Woceso (4) ent&» gedoor
(5) exd&m sodrames

@5 6O Ox3ée:s 15 s el 08 end&im gedows 800 rpm 80 3200 rpm 830 oz BemOudiz’
B 20> CF. Ox38e® omifin HOden RO ¢?

(1) 160 rpm/min (2) 4000 rpm/min (3) 9600 rpm/min
(4) 16000 rpm/min (5) 36000 rpm/min

LS kW 05 Dogeen eutned om0 0o 25 Swisdn Oxlest »® 68 §» 30» B8 88O
=005 ¢? (1 kWh» 8c 6i8ai@ 10 8 o8 condomns ndsim.)
(1) o 450 (2) o 600 (3) ot 900 (4) o 1200 (5) < 1800

OB (Bepsd @®m dcas E, qussind g8edddo r) cedves’
ez o8 &BS R 990emd e0asd nd g, 31080 0858 o8oda
€2 | 205008 caveeB. R 0063 w060 0DIEBnmd (V) 88a¢ som
o¥nde eem .

(A) Vpy=IR

(B) Ve =E-1Ir

©) Ve=E+Ir
o® gneds’ BT dxless
(1) (A) oo (2) (B)woss. (3) (C)zos&.
4) (A) =» (B) o008 (5) (A),(B) e» (C) Bacee.

goed qEledn obf wlvas o8n 8t 0980 O B emqiesd Ly BHOSS 8=
20 1B 4kg oo 2 kg dnsid 8o 00 e scnsim. dnsldn 2kg O pdSn 8 gm0 12N
AceBsl 987 C1RPewrs, Hineds qude o ¢?

4kg 2kg

() 2N (2) 4N (3) 6N 4 8N (5) 10N

2% m@ides Bondaes e 88¢ nd, mOS casbed g dcn gh.g s B8O s ne
ed30md (@ cf. pROC BEIO 1o Dlmd vemm B ©gwr gdas 820D emdnd O ¢?
(1) deed dnsidn

(2) o ERded S9s30a

3) deed BBJO ms W8md

(4) 88d me m® m@ided cdatde

(5) odofiv med cdeisvel bl endm mce

« POR o5 40 cm §o o83 m@des Grosdvest eositr giff 088 PO emided e@1sndd cdSx
05T oan Pdednan D g1, D930 RS ocm 0O A Om 5O, o8d emde &n =TT
0@guHin acEo et ¢

(1) 0.I5SN

(2) 0.60 N

(3) ISN

(4) 45N

(5) 60N

05T
_—

P « SO

J

[MOFYR FAR Avasdon
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47. oBedion v oo 9;08cs con Gedvesl oz @ o628 cBodend =8z ol .

AWWM&&WBWMM»&@W@@dBQW ¢?
R 2R

AAA
Yy

|
Vv
M1 () 2 3) 3 ) 4 (5) 5
48. opoidg guim (spring) 30 1 823 ¢85 1@ 80 08 0dth O Bwd axdBs E @O, 69 ¢z3» 805 23
¢S50 482 1@ 50 68 0D O Bwd eEfo e ¢?

o)) % @ E @) 2E @) 3E (5) 4E
49. 70 kg  Sns0eSs g SBens con qEedn 568 20 2 m = on doxos 5 kg = B s (a0
8 gm0 gleom nhies O 838. nhfed B8u1d o ¢? G

O (1) 73kg
(2) 74kg
(3) 75kg
(4) 77kg

D8 (5) 80kg

50. Cioeovest qeds obf ©@im v8d wy SnF0 B8n v RO P eecBe VB £8&OS
e8s side o3l RS 085 B8 de OrBun BED g1». 0@ Bxinde T,,T, o0 T, g8t
g8 BNE 9000 S ¢?

) T\=Ty=T, @ T,=T>T, @) ,=T,<T, @) T,<T,<T, (5) T,>T,>T,

67 — mSueanedin 5w B¢ (CReaied ©dendr) / g.om.e. (¢.00¢) Bwins - 2021 (2022)
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@evmIensL UFLengd HenewidbmerLD

g.6:0.8. (6.68¢) D®®a/ &.0ur.s. (2_wj FPU ufiens - 2021(2022)

OB8GE &
uTL @6VHELD

67

803

UMLLD

DDSHMEDEE BEH) DEHNO

X% 868 5006/ yeitefl eupmIGD LD

| sms/ugdyw 1

O Bews coect/ oI SifamiSHed :

O B8BomO/ @m sflwner alemLsEe @& 01 dBsS/yerel eigw
80 eng/Gurssn yerefsst 01 X 50 =50
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() A ey B opains seoveon Ul qoietsn Omrind Lo con exoged Gu

:
GEsSD,

Adpecon | go8m doneimce (05 marks)
| nu‘“wm | ¢85 ponzince (05 marks)

(ii) § el x0T tunsind o agm ¢onda Gaxin.

Bowthde, miemEy, BEoe, 85Giaeee, 8 8514, §i8s 0E, 5uRuo e¢dhe.
Any two correct answers, provide marks only for the first two (05 marks x 2)

(i) 28> ow B8ES ¢ INSEE ol Omsidn ehndod ocod (“.ri—w
¢O8Go |

880 2w Be o 1™ CohePur @ 998 el mneagied
558 mm #6 MO Ho 0. o FOS eem el nnd sBean

90E ecdd 30O ad DO .
ORE ce¥d E00TDaE .

(Offer 10 marks when the fact is correct for both primary and secondary)
(10 marks x 2)

{03 marks x 5)

(C) pigm @3 098m e Bl ¢ ) e B &

(i) =820 £ Loy 588 oo et 2 &Kl HE nIsin,

_—e O

=D, Bewiad, g»Ed0H, viixnd, O8usI08sy
(05 marks x 2)
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(it) =58 B Bl oomm &5 o

S S880 sundE
gm D80 edow
gmEfsl gmdlinme 88, sGeidinirl/Drndvmnnar! fcdy 28, adnmd
mBaim ot 80 Eedhnly £2.
Any two correct answers, provide marks only for the first two (05 marks x 2)

e ] ‘-‘.-—-I' el o R a{_ﬁﬁ =B =geim

aass gend, agds Sudim, tulialm gnd, 8l med, gl ¥y, BEE e,
gm0 (2nfudn 50 @ Sodis vlm)
Any two correct answers, provide marks only for the first two (05 marks x 2)

(ii) oi= adioes Enloss S84 po ol Cenlo ool fori=
HEa, madin culsn, gmiiin eudsn, D50m eda (eudeBim), SDE®

Any five correct answers, provide marks only for the first five (03 marks x 5)

Question 02 = Total Marks 100

M eoisn .,L..J..\:’L., (\“ Bt LI

wimey s¥wresy <5

-
>3
(

=
J..
&5 IONUE C"/A zign ¢

(&8 + GOw)

10p

9l (100 2) + . 2 | 0.7 ¢
%2 (5 ) ’*(1(*”‘
03 g
02g
02¢g
00 g
00

M S—

09 0.1 g 00g
10 0.1 g 00g
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»BSGYsT e0d N (N2 se00 @5 C2NeeET®)
(05 marks)

. By nrts=t 50

I e Ve N

#0:@ ¥eed & 880 / BEDaP glenisene mF AP0 (med)
(05 marks)

(B) @8@ 5.0 g = Sofo=t des 1000 gf e 8o mwe B Bgoed cdatoe 2 °C S of) B,

=mc A6

=100gx2x4.2)g*°Ct
(05 marks) S=m g2ws 2nm
=840
(04 + 1 marks)
(1) @S ¢ 3 Talal oSS oote pams od=in,
== 60 g mol')
5555: Fasd 5 2 € & 2 ¢ oxizn @sSa 840 ) (cwd i 8€10)
(05 marks)
B gr® 60 (9 BYcwer) & 2 5O nxtHe =840 x 60/5
{05 marks)
= 100801 (10.08 ki)
(04 +1 marks)

et ' o
€ 8O NH; qom 3 g f 08 Sdogos o
Lad™ N ARG > 1 s M - - 4
3 o2Beoidd ememd e A ;S NH; acvm g8r6e oana odgiy.

2 O 5emw =3-2.3
(0S5 marks)
=0.7¢g
(04 + 01 marks)

{ii) do®e oo o 15 Sgoe 20 &8 oL

dEa deary B8 Hew By 80 800D e St
{05 + 05 marks)

(iil) B ¢ pg NH; oo St

-

Sloma Bemd oo odzim.

Sgmics = tfmed) sPme [ moEn

{05 marks)
2.3 g/ 10days

{05 marks)

(9 + 1 marks)

(iv) B, oo yo 2= 3 el &y o = 8558 &8uf céhom oS o
$SImBa - i eroewd (Senedinm) gEmaen glos 58/ Dee® g 58
{05 marks)
mBadm - gi) cufem (ememd) yEman s8adaed e 088/ s0ad gueama 2808,
(05 marks)
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(V) a8 918 anf edds Doind ememd el apdo emndsless a8

Bua® eziemd 8200 e 89 (cudus 3080 936 Any 88)/ 90 58
yon / 2980 scud dny 88
(10 marks)

(3) (A) con Sioed oOF, W3 een Ened eed. G oy o
QI el £

(i) son gtebsn & & S
(RS S8oez 10 N kg od censis.
(a) oS &
8000 x 10°x 10N
(05 marks)
8x10”N
Dz 8GR0 5B ;18 £2, Bedd eues ¢ e¢si® (04 + 01 marks)

8000 = 10°= 10N
(05 marks)
Bx10°N
adzim BEnd =Bm gpf 52, BEals emey ¢ zexim (04 + 01 marks)

o Sedfl on cfnd eodpedf S elebs eoudd

G =@ B &m@ 8dud a8dD Bn E88w gne
{05 marks)
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2E3e® 8 oo dived goietn

(a) GowBans 53¢ ¢d 50 cmad o2
I

u8esc  =(8x107) x50 x 107

(05 marks)
4 x 10’ Nm
(04 + 01 marks)

(b) oo acyd pleae

e Bemndin
(05 marks)

(c) b, ;v Eodd 68 5

camds TmaT o8
(05 marks)

(d) g (iiiNc) emmio ogm ¢xd BEpdD eulsp cxdbsim,

et Bendlim glete 885 oD Eol® sudE80 o wdl
(05 marks)

c) cmde "BE” =@

{05 marks)
{d) abens 228208m B =82 B agy BEEO8mE oBxd matd.

{05 marks)

Question 03 Part A = 50 marks

67 — mSueanedin 5w B¢ (CReaied ©dendr) / g.om.e. (¢.00¢) Bwins - 2021 (2022)



https://pastpapers.wiki/

8 oo Bvn @¢ulned®xsind cwes edadmweh

(B) me38 sOivms =
- o~ —
SOUJ IDOD CCoC
ag Shan
et oite

ar>.

20 et oo Lhn nemd

(i) ogily» elucad 0o (i) o200t oo o¢ ghmdne wie 8y o¢ 5O ¢mind
Cceon Sidsas Fusin.

arks) .

(iv) ponid goot 9p9d Qe DedlnBsfiv Dailud ¢?

[Nz LT STt N (05 marlgs)

................................................. R R L R R T

(v) geogid de Dhoedimeast (ods sframuc|oa80 Slo ecn fusis,

(. (05 marks = 2)

Question 03 Part B = 50 marks

Question 02 = 100 marks
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(4) (A) 28ven e:8a¢dd| mwads
SR e B8 By nSoos
I NHOIID VEC 85 VTS

o, sva X en

L 4
) /,' &b, eanleds;

k=lo(1+ axAB)

ly=lo (1+ ay A8)

(10 marks)

DIESL ECna g et

ci /9w and
(10 marks)
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(h) da
DD suE c¥eaT e O 40 °C & 88¢ 5yed® y8rene D e, B8 e

RGP0 ndmBe g c/one §000
(10 marks)

o S0 200 @2 g Eaks

yess & 0.5 mm ¢ o&8A =38,

(05 marks)
(04 + 01 marks)

(1) con gfelm Siosd

Biem Dde/eeisn Om 8. g
EEem D8¢/eedue = 0.02 (mm) @wd
EEiow Doe/eedss = +0.02 (mm)
(10 marks)

T L ., ey

= (2.5 +0.47)
(10 marks)

= 2.97 mm
(04 + 01 marks)

= (2.97 - 0.02)
(10 marks)

=2.95mm
(04 + 01 marks)

Question 04 = 100 marks
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(05) com 1 8aed el

el g

00Nl SUDN

1 088: esinlide cofn sew oSt

e Suee (OL)

531 -200
201 - 350

351 500

01 - 650

651 - 800

801 -850
951 — 1100
1101 - 1250

= odf Bnis e | aESD #aED phiom
([0 ey ] BB 25000
Selmoma oEenma

201 = 350
351 —500

501 - 650

651 - 800
[ _:in I_--H:;-II
| os1-100 |
[Mior=1250 |

ko 3] =l g D af 2=
mrdmda (z3:8mm0mez) cmen 2fS5m afam
s5edmamee =E88n
(F<) 230250803
51-200 33 50.5-200.5 125.5 150 100

201 =350 27 200.5—350.5 2755 117 78

351 500 24 350.5—500.5 425.5 20 60

501 - 650 18 500.5 — 650.5 575.5 66 44

651 — 800 21 650.5 — 800.5 725.5 43 32

801 —950 12 800.5 — 950.5 875.5 27 18

051 - 1100 9 950.5-1100.5 | 1025.5 15 10

1101 - 1250 6 1100.5 —1250.5 | 1175.5 6 4

150

For a given column, (column 3 to 8) if everything is correct = 10 marks
10 marks »% 4 = 40 marks
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(d) gom ()5 o BB Ty ¢ qRSs

chen 800 oxg oo
8 D

|

Ef-:xi

=
Xf
(33 x 125.5) + (27 X 275.5) + (24 x 425.5) + (18 X 575.5) + (21 x 725.5) + (12 x 875.5)
(9 x 1025.5) + (6 x 1175.5)

150
(10 marks)

4141,5474308.5+10212+10359+15235.5+10506+9229.5 +7053 74175
= o = = 49450

= Rs.494.50
(04+01 marks)

(Part a = 55 marks)

1250.5—-50.5=1200 =1199 =4 (1250—-51+1=1200)
{05 marks)

{Part b = 05 marks)

HEGE =88em udn gms wewo (03 marks X 2 = 06 marks)
HdeD sdAE me g= wgw (02 marks X 2 =04 marks)
cases § cmey B58 sewo (02 marks X 8 = 16 marks)
(12505.0) cfss anedD gefdaded ofe w0 (04 marks)
(Part ¢ = 30 marks)
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Aaora

—>
1250-§

fsm)
\\00:§

allewm Bsv0.
Question No.

B

CED o

bLSo, S

R00-§ 9s0-§
c \ass bounc‘avj fHO”’“"“J rosh ot mdcynet

Son® o/ &L GLssi / Index No.
67)11

I

shepremb 11

500:S

350.5

906-€

alUgssTe 6

for Technology

eDCE wem Bezd
L

oI
GHmf
ience
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[Fiz. 433.00, As. £4B.00] zad Bem® eoos 228 aocs’: gpaesa
43
{04 + 1 marks)

Q1=23035 0R
[213 , 243] end Bami® goesd B8 goosis grnesD
{05 marks)
Q3=7105 OR
[693 | 723] ewd Ban® goust o818 goasts ooedD
(05 marlks)
01 02 Q3 242 =8 papeg @8 erwEeEl®
IQRE=0Q3-0Q1="710 5-2235=487 OR
[430,510] a2ad Bay® gooxd o838 goosts ooedD
(10 marks)

[21% , 22%] g=d BomB 2ncs @88 socel: mnesd gudduda gzt ethofie
(05 marks)
=3 22a8007)
[5: % 150.2-% 150 ] = [31.5, 33] OR [31,33]
100 ' 100 - e !
aud BxnE oo 28 anuxls snEED
{Final answer, 05 marks)
(Part d = 35 marks)

sfjen 28 msE o Binssa gE= asm,
_ (AT AN (AT (5T 318,
150 R 1

(10 marks)
oz e @B b S8 sPes Bewn 2eddEn §oe®
494.5

2.12

(gedfdEn ens omme @em, 10 marks)

Fe 139953 OR Rs 1400.00
(gPemm E8=nd =ews, 04 + 01 marks)
(Part e = 25 marks)
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8 om0 B e¢ulnedsind duws eCaned

(6) @08 pf8lEs tw @t Bxiod; 508 new qbas Ssio pthae axteds G080 aLoss oD,

258 dioed grefo ofF. mid 2bleoicaSs. snoadSs o eomed e BEMN D TR

hd

“~
65 e=tneSs izl ST condons =dsin. (1= 303 neoda)

(2) cxed Bcd co Hsse oe 3290 o> a¥cenic emled OXE DO cGUS qiladss owe® ollo
36 m 85 &> oxfow ¢l
(1) ellenie emded oxe® g0z 6 m=3 30 coviizin

(3 Sead medins enice e BE0 con gised cesid 48 5% o0 § m=3 0
HA DY crlvsedd eoldoddon ¢ A 80 I ms ¢Ouf 880 Beafuzed I m co weidxt Buuy
(o D0 Eemlnl, oed ol A BO axnding enie o Un 6T o,

E

DGy
im

As—»f C
Im
« e —

Sm
(i) A BO oS g0 axdines onichs vaGne Doy,
(iii) D oy aboenied oxfuigal. A 80 D ¢t o6 amicta ¢!
(V) a8 e DE edn enf Bods (=Bu8s nana oosty,
(b) o=ied coxf anoed gt and aneens 3:2 80 cesaxisy 2.
(1) ox¥ned ¢o o anood oo emaain.
(i) oxfe® gdc et e ¢?
(i) oxfmed oy o mosis cel (o8 Lol vanas Bism,
() oot 2o Sxf exnled cxdle SSaden nEne =oxin.
(1) oEd lleviped U o
(i) ae8 exinged Lo eoale
(1) =D £ o8 89l 58 oo
(d) @ o838 spm, dqived comitr ;B8 o

ada Y 20830 ntazd oo 0 sniee
80" = 890 HEsme o6 A

(1) 0 eSEnifsf emszmim,
(i) 2o 8¢5 S fo camoe mosn
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M cxrfeme “28ad enag™ vrim moed. sud emlum iy oxf Dot Egnd= wdm md,
A0 02 p8e anodmne B Halnd, ¢ e o EimBe gna.

a) i) ¢ = 2mr

36=2X3Xr
_ 38

zgecaa 05
#zdne: ena 05

B2End: ewnm 04 +01
15

e 2

3 s a2 ‘O 3B swd 2uzemsal

tan.fl = 3 Hemienas @
tanf =1 [ewd 8 =tan '(1)] | 285m0
Hemieach.

of i 3=45{I or —
4 4

#5@cBea0¢ A nevs HED: e 10

SEnd ene 05
15

8 = 459

ii) AD = AC +CD
=5+6
=11lm HERC: expey 04+ 01

5

A 45°
11

Method 1

h
tan 45 = —
11

h=11x1

h=11m

Method 2

Homdesn @em

pEgE ah.
~h=AD

h=11m

Method 3
HEmd e
~h=AD

h=11m

@PdSug ol

Bedd ewd cun: e 10

BEnd: emes 04 + 01
15

a gl sew g ey 30
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b) 1) smmed meonel §dce=11—-6=5m af 858 (M): e 05
cemasles=3Im, semed ca=2m BEnd: cmay 04+ 01

10

11} zEned ads = 3 =1m smmed o 257 o828 (M) exa 04 + 01

5

1i1)

[=+3%2+1° sinedd ze8e 228 (M): ene 05
1=v10

[ =3.162 =o&h eud cnd sumdeast 58a0 (M): @xo 05
l=32m(1d.p.) SE€1md ca® dthm 1md: zmes 04 + 01

13

b om0 sew g =xpay: 30

c) *oBE el swn HHdE Diose guia el entas Slose Sog =d ownd 88 =md
E@AmE, S0 ermsEmm md, B8 eneag EEmEsin.
: 4y -
1) 54 = . 2mr® mmae: e 05
SFA=2x3 %36 asdaan: @ 05
SA=216m" EEnd e 04 + 01

15

i) 5A = mrl g (M) e 05
SA=3x1%x3.2 smedas (M): ema 05
SA=9.6m’ 28nd 2o 04 + 01

15

iil) smmed £ fuesn=s=2X 2 =14 (M) g 05
Bqessl =4 X 4 (M) g 05
SA=16m’ 28nd e 04 + 01

15

¢ emude wew ¢ pwa: 45
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d) 1) codens clSumiEsi= % ® 80 aam-ciSum BmmE el Dl mina: e 05

=2 5 2 SEnd: @pw 05

9 3

10

i) Zha Em =rf or % X 2mr smma (goam end a8duem): erea 05
=6}{§ or %XZXBXIS sedan: @ 05

=8m (or B—: m) EEno: @ 04+ 01

15

d e=00 sem § oy 25
Total marks for Question 06 = 150

07 Qo s P o DBD) A =
( ) (@) ==l SRPICT OeY abas - A0 HOLE w4 GRS @oxsmnd D o

TASRYIS L T - . o »
XIS Dl YENMS QoS S L S SLeid Daeays

D gl qOd egms sagmnt

duna e min oin oo

- Con e MS o

siloed o8 g8 sgad Eoin

- - . v 2
2 SoeE23 GENS amems By

(3] oGO &
'Z‘;\'("(:J ’;"_"(-'l(-

3 o 3 PV FEVpEE rouRs | T itk oy B 1
D SLEINILET sxaditar DA 8o Setet Sl oiles ol S8 4,

53T (N), emedaded (P) v cw0:8¢@ (K)
Any correct answer 05 marks x 3 = 15 marks
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shmded eudsm Bo w08/ gesissae
swg S0tqs
B guena £F (B2 208E» 59 ewd 30 sady dox 52 swd s S50 5l 8258)
St wdl E¢88
05 marks x 2 = 10 marks

eftomaTom - gt
R - wEE0 afca sud niEdedudeciln 2f8ce ewd ge@iHul el
Accept the chemical formula also, 05 marks x 2 = 10 marks

z@ mfEn cfde mew @i 09 of (cudEs waln) 580

05 marks % 2 = 10 marks
Part A = 45 marks

dedn sudum 58 308
glans 3%esc gnagf/ela: u08.0 558
Sag® sl sewr B srmed
tmddmaosl sEewdemant Smep &8
2 ouEd dan 88
(Ghid el don 58)
05 marks x 2 = 10 marks

mddim smemdte N sul P 58ena D S08 eud
gl Adfsd D cedes ol giherud e Su e

ciood gD Bd o8y cursm BI08E meme B wim
10 marks x 2 = 20 marks

8E0a0x e®ea v@w 5550w H08
mBO0 gBce 98w i B8
et Dilel aBy aff e H58
odarfOist ale y8fa S0
widesdeciid 2@ce vBv yifc H58
380 8w yHEe H08
05 marks x 2 = 10 marks

moddim smewmd gmlidndfle ¢fs B vem® =8
Hafeema/mEnae sbad J2m8 (58ada 28] mBias)
@andt miBhriacd e 2-08lme me vidlo (sugeds Hscda o)
05 marks x 2 = 10 marks

et 5Eenal sBemd cudus sl cth 88/ m1ga eudes 8ol cosls] @i 88
B.@ mate D8 g mdsin
sl el O wdm e @8 8/ sul Os s 80 eis e 88
shudecst middm (Hes) e elo olx 28/ melammdne
Any two correct answers 10 marks x 2 = 20 marks
Part B = 70 marks
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aBets widna af) A58
a8 mdend
Hucom guetls Z8ena 2] H6E e andn Sen® H62
05 marks x 3 = 15 marks

e aiE H0E Bew Hlu.Ha/me cumden wadma
Hdeewm B @ed € Hoctm goels sH0Smdiena
Hulmema wem 50 BB/ mEmbSn anes wim S68
S&Any two correct answers 10 marks x 2 = 20 marks
Part C = 35 marks

Question 07 = 150 marks

28 BB Z8) BoadEe vl 50 smalad D 580 amouy
05 marks x 2 = 10 marks

(A), C o0 D moasfiles (88 S8n % eom e B e i ecalm)
05 marks x 2 = 10 marks

aucts Bo 008 e Selm 20Badm Aes:8 g2 H58
28 BEetn ahh opfiel a8 el @i opfiE 807 dfiwendn efss wminag aB8 R
el af) B58 exmem Soe® af) S58
10 marks x 2 = 20 marks
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{vi} et Hiduecms Bewn eum wlima D8 A58
mom 9P H8E Heo abaded 858 Desml g08 A58
minded dmn Bm dieadim Bea0m a8ema gi] 88 Hen ubnd wifia g8 58
Any point 15 marks
Part A =55 marks

gl De sandd AT memes S08 sem (DB 2D H58 sewm)
10 marks

2edimid - Sog? 55D Auflm 5-5 uddd Axflm Hefsacne S620 ©5m =dE (af) 2¢)
Sdmmidd mdm @ 0O - 5-5 wdef Oxills Admemae Bgw win mdned afad 4848
At sl

10 marks x 2 = 20 marks

5-5 mded Qfim
10 marks
Part B = 40 marks

wfmamd sddens 08 58 (882d cdenmlo gue @)
Besief dodel md 88
g Jinedim Bida
COD z%d BOD e 9@ o
05 marks x 2 = 10 marks

auets ol BB ewd g tceaio D8osd @oh oxlm
Seaddma § el 9 H68 cud vl me el eme i B68
Any correct answer = 10 marks

Ghd eeio el el
v oo @S ¥ Bewm guiy S8 doag 88
s BEs adoadsend 02
a&wo1d SE0 don 88
gind f eDn groes 58 (S5asD/enaf0 mf 8:58)
Any correct point 05 marks x 5 = 25 marks

il It
e ey sadens
Any correct answer 05 marks x 2 = 10 marks
Part C = 55 marks

Question 08 = 150 marks
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8 om0 B e¢ulnedsind duws eCaned

(09)

Z0& e skt £, { =8¢ s¢on 880 BoE edfus eqod new abné
BEotEe wag 83 padie Se mBa F+pgh+ ,l,pr,: =P+ pehy +%pv§
(a) en3 Soed aonne etdnid s = 200 o@adoe ean goletn gt
80 U gl ecxiisin, £+
(b) Bzaces oty ¢ spacsd con Sioed X oS 58 qug moed S3dE il otd
eaEas am:ﬁ"‘\eﬂm.x:t :‘f;z‘é o3 =iz egoo 810 gedo BEeES Y, =S ms

oo v, = 10 ms! £y g0 280 BR0SES P, en P, ¢8. ndpocsd 9500 on oo e'\x:ic'n.
WS D02 98 o8 condens o5 oe:v:\ Bin G DI

Lo gebas v=5ms!
B&oxa P,

(1) g0 (3) e2dsd EEn5 ols —»‘3«5 (P, = P,) BEx ariads agm gmiome Gomlm,
(i) Lmed endlvc p= 12 kgm =, (I' - P, )e'.;"\ aFindc vGHY BITI.
(i) odpeced odd Ehades 0.5 M oE 2o ‘idv.c: DEHNBE e BOIC NE Y9 el 3o
o Ses otima oY,

(¢) BUdy ESS adivse gy 428 dea (RS L)
O oop¥s groed q; . ¢:9 ol clad
(o =40 em, zge =2 ¢m, so=2E = 2 mm)
OE] BGe0c POU G SOET oweES ¢ 28
slod oo, BIelY o83 olEread o fe0m
(Semed ol eled gong eoeldd afan o>,

oab ela
(coxyde = 2 mm)

ol efoe
o Log emgld

|
\ccc = 2m

2e® g (Boned o pliiced gesisna
—\‘. -l ,f)
Mo Geed qBeER ees cufn, &Y < oidmh LUDNGW Baoma Dom.
edpone Pad o8 gec exinedst 8% 4 Es % 2 em=f S sersnston (_',(o(' »ne Y
M8 S VGO IR, 68 e op B s se Gatrexs 2% 107N m=2 eo.
-

8% oled gag emeloll Bm o¢ Brost von
ol 2820 etigd oRE ooy,

BIedE Pov clasl 898 aptn g

1
P, + pgH + >pvi = P+ pgH + > pv?

¢ oo A
B8Bess, Py + ipvf =il pv3
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0T

wEm/ =@ oo g (h1=hy D and, 288e) pgh =g dfema ade-g 8.

(20 marks)
220 P + %pvf =P+ %pv%

{10 marks)

1
;P(”% =)
(10 marks)

212 = (100 -39
(15 marks)
=45 Nm?
{04 + 01 marks)

&2md deas =(45) = (0.3)
(10 marks)
=225N
(09+01 marks)

Emfe oo HefE [ o 98 Be® S8a8E =8 eFi@d
(10 marks)

28 dee = (2 cm) x (2 mm)
(05 marks)
=2x10Hx2 =109
(05 marks)
=4x107 m?
(04 + 01 marks)

Fl Ya
=— ORF=-—"22
Ae
(05 marks)

e (2 x107) x (4 X 107%) x (2 x 107%)
B 40 % 1072

(05 marks % 4 = 20 marks)
F=40N
(09 + 01 marks)

som 2850 8= B ® domm
dad8 =590 vdw end Jea ehimd / sPEdnD sifedriesl =,
@8 sfed 2820 nidoi 2¥adce 2de ecn um ermed.
o088 58a 98 @D [ vl 582 o) =
(10 marks)

Total marks = 150
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(10) (a) ooe mom &E 2500 oynpE oo Jieodoesi gtel. shome 2 V Bl sioared eldsis
00 § &35 Saden ne B0, 10 A ot eSoca nowm o o8, e83sion Uedic pSediia
emESa oS

PN
@&

L ot Lo L
230V - Eii_j: —— Ee8 tvgma

(1) oo oded gfedice aamne Bixn,

(it) E55y 1 27 meons 54 Sogdy oo a=fa, EECEY vana 2usn.

(11i) =8 oogs S8 5 kg ocf 882 memm mBn 208, mned =io J:82b smPBe v(S aud
S85¢ Mmodesn cda=ca ) C sed ceadons o8, 2Rdn To0 o B3¢ ¢famion
DGme mdzin, S3c BEIU me %S 3900 J kg K el

(iv) eB28xin Sudie gBesiia 102 Q02, ofaxiin Lasic o=t5 mS5Te® Do otndefst
woms odzin.

(b} =dBad 0n &2y 218 owicE oS 30 N o Son 80d aceds o Goed sogin ;B o8f
680 9D nE e goies B0 oSedt gLdlE piias 2x 107 kg m? o8, mdBad ado 02 m &
2dBe SJeemted 85 asBoun and 1 G emen AU condons oo,

pia C8ou afasil o2nda con § o

b ° N )
t=lu, vt=Fr, E=zlw, I=mr, O=wt, w=0, v, O=wt+ 75 o = o + 2al
I Fr. E=Y16°, 1 o o+ ar, O=ag+ Sat X

1
- -

(1) 2880 So o DETDS DG DI,

(i) S2:8dne, enifn MdaGa o oLl plas and SB8xiConbs coUiBil nladaant
Gaxin,

(i) odBed snifn Hodean oana DIisin.

(iv) =dBs 50 25 =2 ooy L.
(1) oni&n Bddoma
(2) oxi&o geboc
(3) =2¢8ad oo a=Sa
oame 20Fn, (=380 eonsn)

ouly (OBt end BuSs cositlst, adBe £0 25 & oo Be®? JON 8pe 8y e
DS DTN JTim,
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muEm caded gfedica =V /|
(05 Marks)
=230V /10A
{05 Marks)
=23 0 (chm}
(04 + 01 Marks)
(i) Efiindm &, mume Bdnf Hucdm mz ads (Q)=VxIxt OR PxRxtOR ?
(05 Marks)
230V x10x(1x60s)
(05 Marks)

138,000 J
(04 + 01 Marks)

@@
momed Meme Vx1=230Vx10
2300W

(05 Miarks)

mzma B8n Hucdm ms aude = muned Hema xt
= 2300 W x(1x80s)
{05 Marks)
=133,0001

{04 + 01 Marks)

Brnd 7 ®E mozme Huedm mese (Q) = 138,000%7
= 966000 J
{05 marks)
83 cdinxfen 2@ = 0 =mcAb,
{05 marks)
mechd, =138, 000 x 7 =566000 )
For equalizing the two sides {05 marks)
A8 =7x%138000)/5kgx 3900 kgt °Ct
Units are not required, For substitution (05 marks)
AB=48.5°C
AP Je cdendDs = 30+49.5 =79.5 °C (K £8=7 §2¢ 88nd ESum wym)
{04 + 01 marks)

=g
cadmzted gnE 0f 7 € Aucdlm @¢ mss ! (efmedfen x @) mon
hidmdl)
For equalizing the two sides (05 marks)
a/f{mxc)
(05 Marks)
=138,000x=7
(05 marks)
{138,000 x 7) / {5 x 3900)
For substitution (05 marks)
49.5°%C
58 Je cdeansdDe 30+49.5= 79.5°C
{04 + 01 Marks)
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{iv) Deadmad moes wadies = I’xR
(05 Marks)
10x 10 x 0.02
(05 Marks)
2W
(04 + 01 Marks)

mEBs @ smem Bundfne veama mdnim
Zrsaifmes (T) =FxR
Zrmdfimea (1) =30Nx0.2m
{05 marks)
=B Nm
(04 +01 marks)

{05 marks)

mdbed emdfén Fiidema oamma mdsim
T=la
6 =2x10%
(05 marks)
ot =300 radfs? or
=300 Nkeg'm?
(04 + 01 marks)

mEHa 22 25 o momeds 89, sun Jdih neamae mdslm,

(1) e=dé&m Sdtdtvama = 2w X 25
(05 marks)

22X 3 x25
=150 rad

(04 + 01 marks)

(2) @® = w3 +2af
(05 marks)

w? =0+ 2 X 300 X 150
(05 marks)
w = 300 rad/s
(04 + 01 marks)
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(3) S22 axfde
{05 marks)
=%>< 0.02 X 300 % 300 =900

(04 + 01 marks)

md8e 20 25 2o Iefl mom 3¢ mlive 28ylamearl® ndBed tiew axdia
G928 sBodnma Jih ol camdane md8s], el
@i el mdm ¢ modus = mdled tham e Se
{10 marks)
22 25 mdmEeEE mom @ mlaas =900

(09 + 01 marks)

@wd

28 25 mimmSe®l mdm Ee mliva uErame = Qe x JE gEm ¢d
{05 marks)
mE admgd = 2nr X 25
(05 marks)
=2X3x%x02xX25
=30m
(05 marks)
22 25= mom Ee®s 2o @e =l 38rese =30 Nx30m
=900JorNm
(04 + 01 marks)
@@l

mdm @¢ mofaa 5esa =10
(10 marks)
=6 x2mx 25 (or6 x2X3x25)
(05 marks)
=9001
(04 + 01 marks)
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